
1 m = 100 cm 1 cm = 0.01 m

0.03 m = cm 4.15 m = cm 143 cm = m

35 cm = m 114 cm = m 4.83 m = cm

405 cm = m 4.34 m = cm 2.54 m = cm

4.76 m = cm 305 cm = m 92 cm = m

0.85 m = cm 73 cm = m 3.13 m = cm

489 cm = m 3.32 m = cm 1.34 m = cm

1.52 m = cm 0.5 m = cm 3.8 m = cm

0.61 m = cm 60 cm = m 4.17 m = cm
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1 m = 100 cm 1 cm = 0.01 m

0.03 m = 3 cm 4.15 m = 415 cm 143 cm = 1.43 m

35 cm = 0.35 m 114 cm = 1.14 m 4.83 m = 483 cm

405 cm = 4.05 m 4.34 m = 434 cm 2.54 m = 254 cm

4.76 m = 476 cm 305 cm = 3.05 m 92 cm = 0.92 m

0.85 m = 85 cm 73 cm = 0.73 m 3.13 m = 313 cm

489 cm = 4.89 m 3.32 m = 332 cm 1.34 m = 134 cm

1.52 m = 152 cm 0.5 m = 50 cm 3.8 m = 380 cm

0.61 m = 61 cm 60 cm = 0.6 m 4.17 m = 417 cm
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